h' I Math-wordproblermns.com

Inequohties with decimals - Multiphcction

Use the corect inequality symbol 2, <l or =

3116

10.9 = 2.2
9.99 + 3.05
6.92 + 512
7.001 + 0.25
76.342 = 7.5
63.116 + 4.34
342.002 = 3.25
9.59 + 2.6
5.31 = 12
870.01 + 3.2
513 + 2.5

217.2 + Q.

All rights reserve: d

91+ 2.8

9.5+ 15

8.96 + 4.01
572+ 6.75
7.001 + 0.25
152.684 + 3.75
46.201 + 4.51
34.2002 + 0.325
6 + 2.01

715 = 1.76
87.001 = 0.32
812 + 0.5

4.7 + 0,01
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Inequohties with decimals - Multiphcqtion

Use the corect inequality symbol D, {or =,

31+1.6
10.9 = 2.2
995 = 305
B8+ 5.12
7.001 + 0.25
76.342 + 7.5

63.116 + 4.34

342.002 = 3.25

9.59 +2.6

b.b1+ 12 |

870,01 + 3.2
313 +2.5

2122 = Q]

All rights reserve: d

91+ 2.8

9.5+ 15

8.96 + 4.01
572+ 6.75
7.001 + 0.25
152.684 + 3.75
46.201 + 4.51
34.2002 + 0.325
6 + 2.01

715 = 1.76
87.001 = 0.32
812 + 0.5

4.7 + 0.01

Math-wordproblems.com



	11.inequalities-with-decimals-by-decimals-division_uyd5f-01
	11.inequalities-with-decimals-by-decimals-division_uyd5f-02

